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3.5 Equations of Lines CYU
&4 UEsz when yau get it ﬂght all by yourseif ' -

I Use whena questton was attempted but 'wrong (get help)

NUse when a question was not even attempted J

CONCEPTS BASIC INTERMEDIATE ADVANCED
Graphing slope-intercept form 1,23 4 5
Writing slope-intercept form 6, 7,9 8, 10, 11512 13— 15
Writing point-slope form 1 12 13415
Writing standard form 11,12 1315
Finding slope from two points 13 15
Writing horizontal & vertical lines 16, 17
Writing parallel & perpendicular lines 187 =21 18 21
Use slope-intercept form to graph each equation. Show work to earn full credit.
l.y=-4x-1 2.y=%x—3 3.y=-6x 4.3x—4y=4

GEEEEEESSY ZEEERs: *

m==t =] 5y \o=D M=% b= =2 p=0
Write an equation of the line w:tﬁ each glvzn slopeYEV(\Jnd y-intercept. 4 b m 3 b
6.m=58&b=3 7.m=28&b=> 8.m=0&b=-8 9.m=—2&b=0 10. m= undefined & } 2

y=Sxt3 Y ¥y = -3 6{: -3x X=2

Find an equation of each line with the given slope that passes through the given point. Write the equation in all three

forms. S 5
point-slope form: \d 2-—‘0()( Z)

11. m=6 & (2, 2} 0
slope-intercept form: = -

% lD)L" \2— ¥ 2- standard form: (g% -—%jh =10
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\
12m = —i & (—3,0) point-slope form: \i—o 5 Z(X ¥ 3)

slope-intercept form: \‘\2 "&%‘i
—_ 3 standard form: + = =

Find an equation of the line passing through each pair of points. Write the equation in standard form.

13.(3,2) & (5, 6) 14.(6,2) & (8, 8) 15.(-4,0) & (6,-1)
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Oy =-x-4%

X +10Y :'qj

Write an equation of each line.

16. vertical through (0, 2) 17. horizontal through (1, 4)
18. parallel toy = 5, through (1, 2) 19. perpendicular to x = - 3 through (- 2, 5)
20. parallel to x = 0, through (- 5, 0) 21. perpendicular to y = - 4 through (0, - 3)
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CYU Reflection: How far can you go: basic, intermediate, or advanced?
Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the score you would give yourself.

1T 218 & .5 16- 718
Basic Intermediate Advanced Solved ALL!
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